CLASSWORK 2, Review 2
September 21, 2025

Rewrite each of the expressions below in the simplest possible form, by collecting the like
terms if possible.
a. 2a(a—2)—a(a—1)

b. 2x—-1(x+1)
c. 5x—1)-3(2x+1)

. An apple cost 9 cents, and an orange 15 cents. Elena bought some apples and oranges, 20
fruitin all, and paid $2.64. How many apples and how many oranges did she buy?

. Two secretaries, Barbara and Mary, need to type a 100 page document. Barbara can type

it in 4 hours; Mary types slower, so it would take her 5 hours to do this. How fast can they
type it together if they divide the work between two of them in the most efficient way?
Open parenthesis, simplify:

a. (a+b)(a—>b)=
Compute without a calculator

a. 99x101
b. 1003 *997
c. 505 %495

Solve equations:

1 2
a. ~x=2+-x
6 3

b. 2[x—=3|=1
3x+2 _ 4
2x-1

Find legs....

Find the length of legs, if
hypotenuse is 10?
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September 21, 2025
Simplify the following expressions

a) 2x+7+5x+ 2+ 3x d x+4(1—x)
b) 3x +9+5xy +2xy+3 e) 2+5x—4(3—x)
c) 32x—1)+x f) (1-3x)(4x+1)

Solve equations:

a) %z=3 d) xx?=5
b) 7x =2 e) [2x+1|=7
5 ’“;616=_7 fy 3(x—1)—4=3x+8

Find the distance from the
window to the ground h.

. A boy had a bag of apples. He gave 1/2 of them to his parents, 1/5 to his brother, 1/4 to his
sister and the last apple he ate himself. How many apples did he originally have?
If you take half my age and add 7, you get my age 13 years ago. How old am I?
Open parenthesis, simplify:
a. (a+b)(a—>b)=
b. (a+b)(a+b) =
c. (a—b)la—D>b)=



